*

do(W + D (2010)") / dp™|

Ratio to CMS

80

70

60

50

40

30

20

10

0.5

13000 GeV pp W
I Y I L L I L N O AL B AL L L B
__ r]'(CMSW+c production) ]
u m CMS _
| —a— Pythia 8.170 default ]
[ ---4-- Pythia 8.170 default-CD _
IS A~ Pythia 8.170 default-MBR _
[ ] _
_|,|.|.|.|.|.|.|.|.|.|.|.|,|.|.|.|.|.|.|.|.|.|.|.|_
:l T T T T | T T T T | T T T T | T T T T | T T T I:
| I T R R T | T T T T | T T T | T T S T | I T N R
0 0.5 1 1.5 2

Rivet 3.1.10, = 300k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


